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Meect e operating point status is all simulation time is

“Ub * . 0.

: "u':m:::eu v node =voltage node =voltage node =voltage
:::zon ﬁst +0:1n = 9060.0000m @:outl = 463.8172m 0:vdd = 1.8000
.option captab

$ DGSB maximum nodal capacitance= 1.568E-18 on node

Mnl outl in gnd gnd N_18 w=0.5u 1=0.18u m=1 8:outl

Mpl outl in vdd vdd P_18 w=1.5u 1=0.18u m=1 sodsl capacitance table

Cl outl gnd 158p node = cap node = cap node = cap

vdd vdd gnd 1.8 .
Vin in gnd 0.9 +0:1n = 3.7804f 0:outl = 150.0025p 0:vdd = 7.5975f

*Vin in gnd pulse (6 1.8 © 6.01n 0.61 9.99n 106n)

-op **** voltage sources

*.dc Vin 8 1.8 8.01

*.measure tran V_deriv find V(Vout) when deriv('V(Vout)®)=-1 :::::t 0:vdd 9:vin

end volts 1.8000 900.0000m

current -66.711%u  ©.
power 120.8815u 0.

total voltage source power dissipation= 120.0815u watts

H_EEEHI(W/L)y = 0.5u/0.18p, (W/L)p = 1.5u/0.18p4H3%HY inverter {Y input
capacitance C;, = 3.78fF
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| EHLEFEE R 9 [ inverter @HTYIMY delay » LUTFE"9 {H inverter
AHE” (B3R ) 6277 {1 inverter AHZE" LUK 11 fi] inverter AHE" (] delay i
o

Fall delay Rise delay

7 { inverter A3 602ps 593ps

9 {[& inverter H 8 598ps 593ps

11 [ inverter fH7H# 628ps 622ps
H_EFRER 0 7 9 (@ inverter FHE" VIR E E1F Fall delay 72 1E Rise
delay #i2 =FWNRfE » FFETHAVEGER

. DUN A" 7 { inverter fH7E” ~ 79 {[& inverter FH7E” ~ 711 {[& inverter fH
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mi3_7

protect

.lib ‘cicBl8.1" TT

unprotect

temp 25

option post

option captab

$ DGSB
Mnl outl in gnd gnd N_18 w=0.5u
Mpl outl in vdd vdd P_18 w=1.5u
Mn2 out2 outl gnd gnd N_18 w=d.5u
Mp2 out2 outl vdd vdd P_18 w=1.5u
Mn3 out3 out2 gnd gnd N_18
Mp3 out3 out2 vdd vdd P_18
Mnd outd out3 gnd gnd N_18
Mpd outd out3 vdd vdd P18
M5 out5 outd gnd gnd N_18
Mp5 out5 outd vdd vdd P_18
Mn6 outé out5 gnd gnd N_18
Mp6 outh out5 vdd vdd P_18
Mn7 out7 out6 gnd gnd N_18
Mp? out7 outé vdd vdd P18

0.18u m=5
0.18u m=5
0.18u m=21
0.18u m=21
0.18u m=94
0.18u m=94
0.18u m=424
0.18u m=424
0.18u m=1926
0.18u m=1926
0.18u m=8743
0.18u m=8743

C1 out? gnd 150p
vdd vdd gnd 1.8

*Vin in gnd 0.9
Vin in gnd pulse (8@ 1.8 @ ©.01n 0.81n 9.99n 2@n)

op
tran 0.1n 3pn

*.dc Vin ® 1.8 8.01
* measure tran V_deriv find V(Vout) when derivi(‘V(Vout)

end
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protect

lb ‘cicol8.1' TT

unprotect

temp 25

option post

option captab

$ DGSB
Ml outl in gnd gnd N_18 w=0.5u
Mpl outl in vdd vdd P_18 w=1.5u
Mn2 out2 outl gnd gnd N_18 w=0
Mp2 out2 outl vdd vdd P_18 w
Mn3 out3 out2 gnd gnd N_18 w.
Mp3 out3 out2 vdd vdd P_18 w
Mnd outd out3 gnd gnd N_18 w.
Mpd outd out3 vdd vdd P_18 w
MnS out5 outd gnd gnd N_18 w
MpS out5 outd vdd vdd P_18 w.
Mn6 out6 out5 gnd gnd N_18 w
W
W
W
W
W
w
w

i

Mp6 out6 out5 vdd vdd P_18
Mn7 out7 out6 gnd gnd N_18
Mp7 out7 outé vdd vdd P_18
Mn8 out8 out? gnd gnd N_18
Mp8 out8 out? vdd vdd P_18
Mn9 out9 out8 gnd gnd N_18
Mp9 out9 out8 vdd vdd P_18

LolOhoORO RO ROMO N

18u m=12236

Cl out9 gnd 156p

Vdd vdd gnd 1.8
*Vin in gnd 0.9
Vin in gnd pulse (0 1.8 6 0.01n 0.01n 9.99n 20n)

op
tran 0.1n 3pn

inverter fH7E
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lib 'cicOl. 1" TT
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temp 25

option post
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$ DGSB
Mnl outl in gnd gnd N_18 w=0.5u 1=0.18u mel
Mpl outl in vdd vdd P_18 w=1.5u 1=
Mn2 out2 outl gnd gnd N_18 w=0.5u
Mp2 out? outl vdd vdd P_18 w=l.5u
Mn3 outd out2 gnd gnd N_18 w
Mp3 out3 out2 vdd vdd P_18 w
Mnd outd out3 gnd gnd N_18 w
Mpd outd outd vdd vdd P 18 w
MnS out5 outd gnd gnd N_18 w
Mp5 out5 outd vdd vdd P_18 w
Mn6 out6 out5 gnd gnd N_18 w
Mp6 out6 out5 vdd vdd P_18 w
w
v
w
w
w
w
8

M7 out? outé gnd gnd N_18
Mp7 out? outé vdd vdd P_l8
M8 out8 out? gnd gnd N_18

‘18u m=B44

Mp8 out8 out? vdd vdd P_18

Mn9 outd outB gnd gnd N_18 .18u m=2210
Mp9 outd outB vdd vdd P_l8 18u m=2210
Mnl® outl® outd gnd gnd N_Li @ . 18u m=5787

Mpl@ outl® outd vdd vdd P_18 Su 1=08.18u m=5787
Mnll outll outl® gnd gnd N_18 w=0.5u 1=0.18u m=15155
Mpll outll outl® vdd vdd P_1B wel.5u L=0.18u m=15155

C1 outll gnd 158p

Vdd vdd gnd 1.8
*Vin in gnd 0.9
Vin_in nnd nulse (A 1 8 A A Aln A Aln 9 99n 2An) C

A e R




W@ vivdd)

Fier [

VLSI_HW3_ 105060012 5EEF~

(b)
.

DA B2 node HY Fall delay DA K% Rise delay

B 54 propagation delay for rising input
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B 54 propagation delay for falling input

I B Custom WaveView Version K-
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E¢ S dT ETXBUh /A vFOREY D B X w4l <o
Output View L Tl =3
5 € DO hw

tvdd)
(vin)

TIME(seq) (lin)

Filer AN =] | waveview 1 | waveview 2

0%
B Custom WaveView Version K-2015.06 Synopsys, Inc. - @wsA40 a *
File WaweView Panel Axes Tools Config Help

Etade ETXRQR;E v o I 5 oo
Output View L

= () DO w0

o
P2528,0.9
£ 523.0 500

SO — 150,09
P2598p,0.9
A 593p,0 5.0.0

Fier [ [an =] [ waveview 1 waveview 2

For rising input For falling input
Outl 42.4ps 45.3ps
Out2 115ps 113ps
Out3 181ps 184ps
Out4 253ps 250ps
Out5 318ps 322ps
Outb6 390ps 387ps
Out7 455ps 459ps
Out8 527ps 523ps
Out9 598ps 593ps
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(c)

N=9, —‘%&B@ delay(d)HQ outg Fall delay -; outg Rise delay x é =d

f= 1 1
2Nd  (598+593)x10712

FH{EE 1S H oscillation loop HY frequency fE:%Z E 839.63MHz [T
(d)

~ 839.63MHz

B %{# node HY frequency

B Custorm v

e M
Rl ]| werevewt ] wvevew? ] wawevew 3 wavevn 4 |

B EEpEE  BEUR oscillation loop HY frequency K&J¥%(F 811.33MHz » Bl
HRAE A E 3.4%15R72(= (839.63 — 811.33/839.63)) -

B 73f7 A node out9 - L EREEIF A Input By ABEAR S & 5 —1{E
output loading(Coyto) * A EE—EREBLIE—EKHY input loading i i
- Capacitance )1 = RC time constant ¥ /)1 = X aRAY delay 1
0 > FEF(f=1/(2Nd)) T - MG ERIRR e L E R ERKATK -



(e)

node = cap node
+0:outl = 15.0219f 0:out2
+0:0utd = 495.6539f 0:outb

+0:
+0:

out?7
vdd

18.5868p 0:
118.5406p

out8

Dl FEAF out9=0.9V T{[& node HYEZ

FEHE

G —EIRFHETEHIAIRAE

15 Ctotal /R;E‘/\Tﬁcvdd
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cap node cap
47 .1499f 0:out3
1.7696p 0:outb

52.8386p 0:out9

169.1755f
5.2079p
184.8571p

RN ES G

9Ctotal = Coutl + Coutz + Cout3 + Cout4 + CoutS + Cout6 + Cout7 + CoutB + Cout9
P = Ciora X Vi X = (263.987 x 10712) x 1.82 x (811.33 x 10%) = 693.9mW
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|Ele Edit View Search Jools Documents Help
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Save  Print..

New Open
[ hw3rsp =
.o'pucn Eaptab
$ DGSB

Mnl outl out9 gnd gnd N_18 w=0.5u 1=0.18u m=1
Mpl outl out9 vdd vdd P_18 w=1.5u 1=0.18u m=1

Mn2 out? outl gnd gnd N_18 w=0.5u 1=0.18u m=3
Mp2 out2 outl vdd vdd P_18 w= =0.18u m=3
Mn3 out3 out2 gnd gnd N_18 w=0. 0.18u m=11
Mp3 out3 out2 vdd vdd P_18 w= 0.18u m=11

3 1.5u
| 0.5u
' 1.5u
Mnd outd out3 gnd gnd N_18 w=0.5u 18u m=34
Mp4 outd out3 vdd vdd P_18 w=1.5u
Mn5 out5 outd gnd gnd N_18 w=0.5u
Mp5 out5 outd vdd vdd P_ 1.5u
Mné out6é out5 gnd gnd N_18 w=0.5u
Mp6 out6 out5 vdd vdd P_18 w=1.5u
Mn7 out7 outé gnd gnd N_18 w=0.5u
Mp7 out? out6 vdd vdd P_18 w=1.5u
Mn8 out8 out7 gnd gnd N_18 w=0.5u
Mp8 out8 out7 vdd vdd P 18 w=1.5u
Mn9 out9 outB8 gnd gnd N_18 w=0.5u
Mp9 out9 out8 vdd vdd P_18 w=1.5u
Cl out9 gnd 158p

18u m=1163
18u m=1163
18u m=3773
18u m=3773
18u m=12236
18u m=12236

i
AR RN

Frrszzrszzzzzs
coCCoCOoOOCOOOO0D

-

o

c

3

T

w
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Vdd vdd gnd 1.8
*Vin in gnd 0.9
*Vin in gnd pulse (8 1.8 0 0.01n ©.81n 9.99n 20n)

.ic out9 1.8

.op

.tran 8.1n 5n

$ measure one period time average power

.meas tran pwrl AVG POWER from=2.57n to=3.18n

*.dc Vin @ 1.8 0.01

.end

3
a

H | Powerx 693.9mW
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ST+ L BEEBREET: » ECIE power 455783.5mW
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subckt inv_chain vdd vss outl out2 out3 outd out5 out6 out? out8 out9 finv_chain_post
Mnl outl out9 vss vss N_18 w=0.5u 1=0.18u m=1 protect
Mpl outl out9 vdd vdd P_18 w=1.5u 1=0.18u m=1l lib 'cicO18.1' TT
Mn2 out2 outl vss vss N_18 w=0.5u 1=0.18u m=3 unprotect
Mp2 out2 outl vdd vdd P_18 w=1.5u 1=0.18u m=3
Mn3 out3 out2 vss vss N_18 w=0.5u 1=0.18u m=11 temp 25
Mp3 out3 out2 vdd vdd P_18 w=1.5u 1=0.18u m=11 option post acout=0 runlvi=6
Mnd4 outd out3 vss vss N_18 w=0.5u 1=0.18u m=34
Mp4 outd out3 vdd vdd P_18 w=1.5u 1=0.18u m=34 include './inv_chain.pex.spi’
Mn5 out5 outd vss vss N_18 w=0.5u 1=0.18u m=111
MpS outS outd vdd vdd P_18 w=1.5u 1=0.18u m=111 sessssnssvsnsss circuit description **eesesessenees
Mn6 out6 out5 vss vss N_18 w=0.5u 1=0.18u m=359 X1 0UT9 VSS VDD OUT1 OUT2 OUT3 OUT4 OUTS OUT6 OUT7 OUT8 inv_chain
Mp6 out6 out5 vdd vdd P_18 w=1.5u 1=0.18u m=359
Mn7 out7 out6 vss vss N_18 w=0.5u 1=0.18u m=1163 vdd vdd gnd 1.8
Mp7 out7? out6 vdd vdd P_18 w=1.5u 1=0.18u m=1163 vss vss gnd 0
Mn8 out8 out7 vss vss N_18 w=0.5u 1=0.18u m=3773 Cl out9 gnd 156p
Mp8 out8 out7 vdd vdd P_18 w=1.5u 1=0.18u m=3773
Mn9 out9 out8 vss vss N_18 w=0.5u 1=0.18u m=12236 ic out9 0.9
Mp9 out9 out8 vdd vdd P_18 w=1.5u 1=0.18u m=12236 ssssssssssnsess gipylation setting *eeeessssescscs
ends op
tran 0.1ns 10u
meas tran pwrl AVG POWER from=3.25u to=5.89u
end
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